FEE

S=1:500

KEEMER ELKE PEGT5 L=3.0m, PE@ 150 L=120. Tm, HI/kFH N=2&. #5KE N=3&Fr. BT —HX. HET —H

\
- 125, 20 M
\

\ I

°126.42

FELSEE N=168
HlkF AT FHE N=1F

=

T RBRRSSS O
LELT,;E;QEI EEEEEN
™

]
f’F%Fﬁ\ 128 i'r.

\
Vo
B
i

ee="

ES iR
SH6EE TEHS T HR6-14

aAh

A

R
RiEEe XIE2 A 0L0)

KEEMHRE (£D2) ITE

FER
R

GR
AE

# B g | B#E
503

# 8 8|/

BTHARKER




SAERHIE X

S=1:20
PE ¢ 150 PE ¢ 150
[$3E] [EE£EN 4]
IR E
| | | | . | S=1:20
i 8 |sEmEmT |
Hgy-+ ] 18]
_ | | NO. 38
© ’Q - _
i} | 2 sl s |
3 wiheE s
| g |[AIHET > Mﬁlﬁﬁ 8
o @ I | | 9500
S @ 8 750 2750 2750 750 | 2500 500
| v -~
AN i\
KEE PE@150 JKiE% PE@150 500
2.000%
As [sP] As ey — i e A E—
| I
SRR B |
(%38 (EREN 4] AREREK EPE ¢ 150
300
i AR T ‘ EHIE EBEBNET /
A= 53% )
S ® | & B _ = T R : (%) (B8 =
g o | ] S ! S
1% | il 2 | T
| ™ 8 H - ™
! g | g
| .
(R&IR) I
FRE  @EMAS( & B OEMASI3F) t= 4om '
TEEAE ARC-40 (RGE&) t=15cm T RGEA) t=15¢cm (=E18) (RE18)
it t=19cm it REE  OHHKASAI) t=5ecm K B  QOHEHASHEH20FH) K I t= 5cm
LB M-40 t=12cm LE®E M40 t=12cm
TE&#E ARC-40 t=20cm TREig#E ARC-40 t=20cm e
it t=37cm it t=37cm % mﬁ EQ E+
X HELBICTRATE SHGEE THES THR6-14
. = y N AiRh wa A
X MEREREOHEERLERET S -
BiE5E 2 X2 A (1L0)
KEERBRBE(ZD2)IE
ZAEHIETEE - SEERR
= X
WR K=
g £ A B |BF

EE = 5 8|/

BTHARKER




B X

S=Free
s
&
2
{(‘ 0 7
o g
g 0\3
5, PP 20 L=2.0m
N SR I3 KAE 6150420 N=1. OfF A PESI50
g)w SKX 5r1bsKA ¢ 20 N=1. OfE VP ¢200 L=7.0m
SKX-L_¢20 N=2. 0f WPE_¢150 L=35. Tm
{(,e 0 BERT-7 L=2.0m WPE-EF ¢ 150 L=85. Om
(/\%&:P(“& ®2-t L=1.5m WEF—KB ¢ 150 N=15. 018
9 5 Bk N1, 0% WEF-B_ 150 N=14. 0/
o2 = NE-iTe G150 o8
=7 J FEIB N MT K ¢ 150420 N=1. OfE WEFRT & 150475 1. OfF
VAN — =1.
\K(“ SKR ALK 620 N=1.Off WEF-KRS ¢ 150%100 N=1. 018
770 w SKX-L 20 N=1.0{& WSP-FP_¢ 150 N=2. Of
SY SKX-S (P*V) ¢ 2013 N=1. 0@ m N=2 OfF
& BERT-7 L=1.6 T
A2 % ;;;{m " KERAIFVY NV 93 $150 N=2. 0%k
JW SR FKERN W7 H W, Fob $150 N=2. 048
= SSV-F_ 150 N=1. 0f&
0.5 {(*30 , S N-1.08
. (W\f J FRPf& B-400J N=1.0f8
"0 4 ES N=1.0f@
o G WPE_¢100 L=1.0m
®? SE 44721 V7= $100 N=1.Of
@éﬁ@ QXTI S, TN Ly4- (PxC) ¢ 100 N=1. O1E
< N s &RT-7 L1217
g0 SR &y L=114.Tn
0.6 % 2 b,
S0
“y
g PESTS
B 3o, VP_¢100 L=1.5m
@ N\ % WPE $75 L=3.0m
% WEF-S_¢ 75 N=1.0f&
<« J]éﬁ WEF-KB ¢ 75 N=1.0f&
2 .
0 o WEF-B_ ¢ 75 N=1.0fE
(;0%\ N 5 WEF-FP_¢ 75 N=1. 0@
7 2, WSP-FP_75 N=1. 08
MR Lyt- (PHV) ¢ 75 N=1. OfE
“)W BRI N 7% B75 N=2. 0fk
f{\go KERIN BT . Fob G75 N=2. 048 #E £ SHE NIEF
KW& SSV-F ¢ 75 N=1. 0fE
) #E N-1.0[8
%0, FRPf B-400J N=1.0fE
J E4 N=1.0[@
WAR SR (i FsE A L) 5 EBRT-7 L=3.0n o
PP $50 L=0.9m S8, Bz L=1.5n L8
# -haPE W57k ¢ 100450 N=1. 0fE 1\@%,@@
SRR AREYT B 150%50 N=1. OfE ‘)j &
PP-PF 50 N=1.0fE \ir\e 0 >
PLA-AP 50 N=1. 08 W d \
AR o000 1 % 0
PLA-L $50 N=2.0f& ‘0 O
~ & (—~
@ 5 % 1353
;s g \M\
274, A
279 o 0 53 Q
0 S . - O<
/”K&Z Y f\‘:; ©) *g
Q- N

v {(\/‘0
MRS (5 ITHK % - HER) 2 ¥ <5 7,
PP 25 L=4.0m 5P SSH
SR THYT ¢ 150450 N=1. OfF ®© g @@fg}%‘
PLA-AP ¢ 25 N=3.0f& e, @gp
PLA-L ¢25 N=2. Of& <ty o
WiR 3% (53 i6%) B-L $25 N=1. 0/
BEHE YT ¢ 75450 N=1. 0fF B-Bu ¢ 50%25 N=1. Of
B-Ni $25 N=1.0fE PP$20 L=1.1m
GV10K ($ALR) ¢ 25 N=1. OfE SEEYL MTHKEE ¢ 150420 N=1. OfF
SKX £1E7KF8 20 N=1. OfE
/ SKX-L 20 N=2. Of
2 EHRT-T L= Im
0o - &=y} L=0.5m
%p%@& BhB74bh N=1. 0#K

SH6EE THEHS THR6-14
fAH W P
B3 2 XU 2 PR (D)
KEERE (Z0) TH
REH

R ®R
AR £ A B |BE
3
@it £ A 8|/ 3
FBTH R KER




